Year 2 Maths Homework
Can you fill in the missing numbers in the sequences?

	90
	80
	
	
	
	40
	
	20
	



	6
	
	10
	12
	
	
	
	20
	



	65
	
	55
	50
	
	
	35
	30
	



	3
	6
	
	
	15
	18
	
	24
	



Can you use your 2s, 5s, 10s and 3s to help you choose the correct answer? The first one is done for you.

If you count in 2s from 0 your number will always be               Always,   Sometimes,   Never
even.               

If you count in 5s from 0 your answer will end                          Always,   Sometimes,   Never
[bookmark: _GoBack]in 5.               

When you count in 3s from 0 you will say the number 22.         Always,   Sometimes,   Never


When you count in 10s from 0 your answer will end in 0.          Always,   Sometimes,   Never


